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[Participant ID

Participant Name

Test Center Name Basant Valley Global School
Test Date 01/02/2021

Test Time 3:00 PM - 4:30 PM

Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.
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Ty Wis Ly

Ans ‘, 1. Ql'}'

<3 Py,
<4 Qay

Question ID : 9489116002
Option 1 ID : 94891124005
Option 2 ID : 94891124008
Option 3 ID : 94891124006
Option 4 ID : 94891124007
Status : Answered
Chosen Option : 4




®? oo gEST F9 gEaERa R T ar?

ans 1. 1928
v 21932
< 31930
< 41935
Question ID : 9489115419
Option 11D : 94891121673
Option 2 ID : 94891121676
Option 31D : 94891121674
Option 4 ID : 94891121675
Status : Answered
Chosen Option : 2
Q3 sRa TR @ B T e A S TR w T AT HE WS S g
s Trm B2
Ans
X 1. FEET WMH FHRE AT
X 2 dagare AT At
X 3 ST HETE WS
v o g HEaTE WSAT
Question ID : 9489115443
Option 11D : 94891121769
Option 2 ID : 94891121771
Option 31D : 94891121772
Option 4 ID : 94891121770
Status : Answered
Chosen Option : 4
Q4  Which of the following in the air turns silver articles black (when exposed to air)?
Ans 5 1. Carbon
#< 2. Chlorine
/< 3. Nitrogen
o 4 Sulphur
Question ID : 9489115442
Option 11D : 94891121768
Option 2 ID : 94891121765
Option 31D : 94891121766
Option 4 ID : 94891121767
Status : Answered
Chosen Option : 4




Q5 gremor s &1 freer fee AfE X W U 9SO 5 A F e o ¥ % W @ o i

Ans  of 1. 12
<213
<311
X 4 15
Question ID : 94891113058
Option 11D : 94891152230
Option 2 ID : 94891152231
Option 3 ID : 94891152232
Option 4 ID : 94891152229
Status : Answered
Chosen Option : 2
Q.6 mmﬁs_p%s&maﬁr#ﬂamaﬁmm%l afs BRier 1 oF oo x §, & T F amwa
BT |
Ans 1
K Zx?
2
1
X2 _x?
3
1
s Zx?
b
1
<4 —x?
9
Question ID : 94891113069
Option 11D : 94891152274
Option 2 ID : 94891152273
Option 3 ID : 94891152275
Option 4 ID : 94891152276
Status : Answered
Chosen Option : 1
Q.7 1 1
IE x+-=2 & @ x>+ — T AT AA HIaAT
X X
ans 11
v 2
<33
<44
Question ID : 94891113066
Option 11D : 94891152262
Option 2 ID : 94891152263
Option 3 1D : 94891152261
Option 4 ID : 94891152264
Status : Answered
Chosen Option : 4




Q.8 45 km/hr Fr =T T T W TF TME, 4 T F Fraw T 9T w5 A BEwm o § F e W

Ans

e 50 m #F1 gt W w3 Toend A & AT A & UF W F O T A g

« 1. 3600
v 2 3601
< 3 3636
< 4 3606

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891113063
94891152249
94891152251
94891152252
94891152250
Answered

2

Q9 s gAmE #, v e, A 37% AT wow v, R R sefeEr 520000 FA F ¥ E

T 57 TT F g ZFHEART H ST AT AAT F For W 7 Hew

Ans 1. 2200000

< 2. 1700000
v 2 2000000
« 4 1500000
Question ID : 94891113057
Option 11D : 94891152226
Option 2 ID : 94891152228
Option 3 1D : 94891152227
Option 4 ID : 94891152225
Status : Answered
Chosen Option: 3
Q10 _:
AU werTer feaw w e = rar e 82
A W16 mE
X217s
X313+
X4 16 S
Question ID : 9489115433
Option 11D : 94891121730
Option 2 1D : 94891121729
Option 31D : 94891121731
Option 4 1D : 94891121732
Status : Answered

Chosen Option : 1




Q11 o= Fvg #2390 F RFT Hew W AT W 20% F T ST @ 1 3 TEG I AeT A

Q|
ans K 1. 2340
v 2 3325
< 3 3525
< 4 3425
Question ID : 94891113059
Option 11D : 94891152234
Option 2 ID : 94891152233
Option 3 ID : 94891152236
Option 4 ID : 94891152235
Status : Answered
Chosen Option : 2
12 : -
12 srifEEa (thyroxine) & TeemuT F T FiF @1 a7 3TTs &2
Ans x -
B-ciric)
v 2 HrEEE
<o S
X 4 AT
Question ID : 9489115412
Option 11D : 94891121648
Option 2 1D : 94891121647
Option 31D : 94891121645
Option 4 1D : 94891121646
Status : Answered
Chosen Option : 2




Q.13 FaffET 3@ &, A & ¥ Tf & anfde &, S Oisee 98 #a & B § & Tt &er onfaer ¥, &
HEFHIH 96 A & AN C & 3 mfr o anfae ¥ o S 9ug e ¥ oaited &9 w7 g 2

(s

e XK 3 den, o daw S5 3 ssedE Tue w B
v 2
T ST, S ATele, #E, HT AEETEH 980+ 2
X 3 F e, S e dieeie AT FI THS FA 2
X 4
T o9, S Fad Fihole 3R 3sEHH gHE Fa £

Question ID : 9489115996
Option 11D : 94891123982
Option 2 1D : 94891123984
Option 31D : 94891123983
Option 4 1D : 94891123981
Status : Answered
Chosen Option : 2

Y oy e safer A w92
e X e aweTS

X 2 geirer faforarw

X 5. TS Hegel FHellH

v 4 TrReT AET

Question ID : 9489115430
Option 11D : 94891121719

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891121720
94891121717
94891121718
Answered

4




O gfr V2916 = 54 ¥, @t R=RR@T F1 A9 FF ST

v29.16 ++/0.2916 +/0.002916 + +/0.000029 16

Ans - X 1.6.00
v 2 5.9994
< 3 5999
< 4 590
Question ID : 94891113047
Option 11D : 94891152187
Option 2 1D : 94891152185
Option 31D : 94891152188
Option 4 1D : 94891152186
Status : Answered
Chosen Option : 2
.16 ' .
16 grefr FETEr 5w (Direct Action Day) $T SiSoT ey 1 o7
Ans +
K. gEY I 9
X 2 FGTCAT amefy
v o AgFEAe e e
X 4 T JeRTeT AT
Question ID : 9489115417
Option 11D : 94891121667
Option 2 ID : 94891121665
Option 31D : 94891121666
Option 41D : 94891121668
Status : Answered
Chosen Option : 1
Q17 sma wew & Peafarea & ¥ frw a9 & i Rt & e T ot sea Fews
(National Programme of Nutritional Support to Primary Education, NP-NSPE) #r LEITT #r?
Ans  of 11995
< 2. 2003
< 31990
< 4 1985
Question ID : 9489115441
Option 11D : 94891121763
Option 2 1D : 94891121764
Option 31D : 94891121762
Option 4 1D : 94891121761
Status : Answered
Chosen Option : 2




OB = ¥ By T ez A9 3w =REr ¥ A ¥ ST o B2

Ans

X1 gTer IR A
X 2. el oT=9d T
X 3 F@TcAT el

v o greTETe AR

Question ID : 9489115404
Option 11D : 94891121615
Option 21D : 94891121616
Option 31D : 94891121613
Option 41D : 94891121614
Status : Answered
Chosen Option : 4
Q.19 g & frafafea # & B8 Tua 98T &1 J=% (Father of Local Self Govemment) T STam
s
Ans =) 2 .
X< 1. &g @ (Lord Minto)
X 2 §E HaieT (Lord Curzon)
L) -
V'3 &g o (Lord Ripon)
L)
X 4 &S AT (Lord Mayo)
Question ID : 9489115429
Option 11D : 94891121713
Option 21D : 94891121716
Option 31D : 94891121715
Option 41D : 94891121714
Status : Answered
Chosen Option: 3
Q.20 Four friends, Ankita, Shruti, Payal and Mahak, are sitting at a rectangular table, each at one corner. Ankita is sitting to
the right of Shruti, who is sitting diagonally opposite to Payal. Where is Ankita sitting with respect to Mahak?
Ans X 1. Directly opposite
« 2. Diagonally opposite
& 3 Immediate left
/< 4. Immediate right
Question ID : 9489115999
Option 11D : 94891123995
Option 2 ID : 94891123996
Option 31D : 94891123993
Option 4 1D : 94891123994
Status : Answered
Chosen Option : 2




Q21 Fiter Todar sEae & g e AT e TSEw TeET B 6 seEE F ara-siEl & B e

Ans  of 1. NH-37
< 2. NH-45
X 3 NH-30
< 4 NH-50
Question ID : 9489115413
Option 11D : 94891121651
Option 2 ID : 94891121649
Option 31D : 94891121652
Option 4 1D : 94891121650
Status : Answered
Chosen Option: 1
Q.22 3
S T HITSShIT 7 &ar mar
ans o 11876
< 2 1856
< 3 1886
< 4 1879
Question ID : 9489115415
Option 11D : 94891121657
Option 2 ID : 94891121659
Option 31D : 94891121658
Option 4 ID : 94891121660
Status : Answered
Chosen Option : 3
Q.23 T v Reedt & & 37 38T F 799 Ffew, S FEERT @er § voT Ry (7) F T o A
TeRa &
H3K9N15Q217?
Ans x 1. V
<285
viT
<4 U
Question ID : 9489115984
Option 11D : 94891123936
Option 2 ID : 94891123935
Option 31D : 94891123933
Option 4 1D : 94891123934
Status : Answered
Chosen Option : 3




Q24 ghigary T A #I Ioig ¥ 3 Agegs (knighthood) Farfer aror witer & o
e K e @i

v 2. FfeTTareT a7 ATHER

X 3 s T &7 wrEr

< 4 =t =t w e
Question ID : 9489115407
Option 11D : 94891121626
Option 2 1D : 94891121628
Option 3 1D : 94891121627
Option 4 1D : 94891121625
Status : Answered
Chosen Option : 2
Q25 3w oo B IEae U 3w gwEE (AMRUT) 333 @ free wefom 32
e X el aftmes
v 2 TR AR giEau
X 3 mATE f7dr & fFAwT
< 4 gl TSR
Question ID : 9489115440
Option 11D : 94891121757
Option 2 ID : 94891121759
Option 31D : 94891121758
Option 4 ID : 94891121760
Status : Answered
Chosen Option: 2
Q.26 i
T T wEr TR 2
Ans x 1.
Tg FeAGAY # U UF Tg FAA ¢, el A Sadee B SiaAr giid # 9 o)
X 2 7g e 7 Bua 2
v o Ig TSEafy s ST T 9T TR R
X 4
g IF TUE §, 8 A AR FAR & SPRT AR o S F 9T e s or
Question ID : 9489115428
Option 11D : 94891121712
Option 2 ID : 94891121710
Option 3 ID : 94891121709
Option 4 ID : 94891121711
Status : Answered
Chosen Option : 3




VY AT & @ #iF @ woe sy o ganr R #2

Ans

<1 3reremET
v 2 gegE
A3 TRt
?(4.3"%@

Question ID : 9489115408
Option 11D : 94891121630
Option 2 ID : 94891121629
Option 31D : 94891121632
Option 4 ID : 94891121631
Status : Answered
Chosen Option: 2
Q.28 fyw =rw fwedt # @, 36 FGFEA H w9 HeT, S FEARET wwE @ wEes o § ae w4 A
THATET LT B
1. 9fER
2. e
3. =afEm
4. e
5. T
Ans 1. 45321
< 2 31542
< 3 51432
v 4 31452
Question ID : 9489115983
Option 11D : 94891123929
Option 2 ID : 94891123931
Option 3 1D : 94891123932
Option 4 1D : 94891123930
Status : Answered
Chosen Option : 4




Q.29 wwwait (FAO) & SOFIA-2020 32T 3 (@R, it @1 Zor faed o Had a8 Aol 3c9es &7
Ans W e

X< 2 T Fea

75 3. 3eITEhT

< 4 FrF

Question ID : 9489115426
Option 11D : 94891121704
Option 2 1D : 94891121703
Option 31D : 94891121701
Option 4 1D : 94891121702
Status : Answered
Chosen Option: 1

30 A a:b: 3: 4% a =tem 222 g A A fifE

Ta+2b
Ans 7
X1.§
7
Xz.ﬁ
29
Xs.?
.3
Vi

Question ID : 94891113056
Option 11D : 94891152224
Option 2 ID : 94891152223
Option 3 ID : 94891152221
Option 4 1D : 94891152222
Status : Answered
Chosen Option : 4




¥ EVM @1 QR e w7

Ans X1_
SorecliereRr da18eT AWM (Electronic Vending Machine)
X 2 sofFees SifeeT AT (Electric Voting Machine)

X 3. gafégs 3fFe A= (Electric Vending Machine)
v 4
SoleFclieteR ariedr Al (Electronic Voting Machine)

Question ID : 9489115436
Option 11D : 94891121743
Option 2 ID : 94891121742
Option 31D : 94891121744
Option 4 1D : 94891121741
Status : Answered
Chosen Option : 4

Q32 45: 75 3 : 5 51: 68 3% 256 : 81 & T8 3T (compound ratio) T &2

Ans 128
X< —
75
32
64
75
32
45

X2

Question ID : 94891113054
Option 11D : 94891152214
Option 2 1D : 94891152213
Option 31D : 94891152215
Option 4 1D : 94891152216
Status : Answered
Chosen Option: 2




Q.33 =7 oz R v ¥ od o 9 e e ¥ v mAw ¥ ol ve aEew ¥ e g & wae

Ans

il

v . FaTel
X 2 FER
K 3 geaar
X4.?'.ﬂ'

Question ID : 9489115995
Option 11D : 94891123978
Option 2 ID : 94891123977
Option 3 1D : 94891123979
Option 4 1D : 94891123980
Status : Answered
Chosen Option: 1
Q34 150 m T HEAR ¥ TET F g AT FAT, IR TEA F 3TAAS FIOT 45° B
Ans - X 1.125 m
<2200 m
v 3150 m
<4175 m
Question ID : 94891113072
Option 11D : 94891152285
Option 2 ID : 94891152288
Option 3 ID : 94891152286
Option 4 ID : 94891152287
Status : Answered
Chosen Option : 4
Q.35 =1 aeg BT v ¥ O ¥ A9 Bt O @ ve mAw ¥ i ow e ¥ woeE o @ WO
Hfaw|
Ans «
" TR
X 2 9B
< 3. agTEr
<4 grdy
Question ID : 9489115993
Option 11D : 94891123971
Option 2 ID : 94891123970
Option 3 ID : 94891123972
Option 4 1D : 94891123969
Status : Answered

Chosen Option :

1




% T o e AGT F E g3 Tl

Ans

v gEs
X 2 @mEl
X 3 I
R

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

9489115418
94891121670
94891121672
94891121671
94891121669
Answered

1

Q.37 uw Few Fr 90T A, 9 OET & SR @& AT 30.20 ¥ i 3 ¥ 9 F was & dt|a 41

%1 9w 2 oEr F grear &= siEa A AT

Ans X 1.39.5
< 2 385
X3 375
v 4 365
Question ID : 94891113071
Option 11D : 94891152283
Option 2 ID : 94891152282
Option 3 ID : 94891152284
Option 4 ID : 94891152281
Status : Answered
Chosen Option : 2
Q38 iy foreae HETT & ER, 2020 T, 9RE F FAE W &g FYAGR 7Y e E7
e K125 T§
<221 a9
<316 a¥
v 18 g
Question ID : 9489115427
Option 11D : 94891121707
Option 2 ID : 94891121708
Option 31D : 94891121705
Option 4 ID : 94891121706
Status : Answered
Chosen Option : 4




Q39 4.7
NEES |

Ans X 1342
K 22-32
<3 3y2+2
v 322

FT AT 79 HIifaT)

Question ID : 94891113051
Option 11D : 94891152204
Option 2 ID : 94891152201
Option 3 1D : 94891152202
Option 4 1D : 94891152203
Status : Answered
Chosen Option : 3

Q.40 g v w1 w1 10 fom & T T o ) HAT S w0 o 12 | # 9 ST 9 §1 59 g A
T @Y HeR 3E e # W w & e e @ wew ween?

6
r N
11

Ans

5
2. S
v 511

6
y R el
11

5
4. AL
< 611

Question ID : 94891113049
Option 11D : 94891152195
Option 2 1D : 94891152193
Option 31D : 94891152196
Option 4 ID : 94891152194
Status : Answered
Chosen Option : 2




4 Mo > No” & 31 ¥ - Mo, No #r o3 gl

‘Mo # No: T 37T & - Mo, No = frar 1
‘Mo $ No’ &T 37 & - Mo, No &r #&T &l

‘Mo / No' & 31T & - Mo, No & &5 2l

ITFT & U W, BT 710 == & Po T Ko & a7 Teer 87

Po $ Qo # Ro/ To > Ko

e Ko ofy & w5
K 2 T FH Tt
o
Vs ofy #r A&t
X4 Bar i gga
Question ID : 9489115979
Option 11D : 94891123915
Option 2 1D : 94891123916
Option 31D : 94891123914
Option 41D : 94891123913
Status : Answered
Chosen Option : 2
Q.42 . "
SoHT & I & FHEY SIS F A R AqT?
e o T 3Egle
X 2 3HErEE TEEr
< 3 AT ST
<4 HJT FifEw
Question ID : 9489115420
Option 11D : 94891121677
Option 21D : 94891121678
Option 31D : 94891121679
Option 41D : 94891121680
Status : Answered

Chosen Option :

1




" gEE (UNESCO) &7 geare el fiva 37

Ans ?‘ﬁ- Héﬁ _;n
A 2 ATERT
v o

X 4w
Question ID : 9489115434
Option 11D : 94891121735
Option 2 ID : 94891121736
Option 31D : 94891121733
Option 4 ID : 94891121734
Status : Answered
Chosen Option : 3
G4 AT (NASA) ¥ @R, To 1 81-Tag 1 FFaa o Iereorea 82
Ans X1 20%
<2 25%
V'3 30%
< 4 35%
Question ID : 9489115424
Option 11D : 94891121693
Option 2 1D : 94891121694
Option 31D : 94891121695
Option 4 1D : 94891121696
Status : Answered
Chosen Option : 4
45 a7 T F eslafEa Te # ¥ Fi9 v 30T JumEes o o
Ans =
<. =TT |
X 2. AT |
2 ]
X 3. =gEred fasRATiEcT
o 4 HHEGIE
Question ID : 9489115421
Option 11D : 94891121682
Option 2 1D : 94891121681
Option 31D : 94891121684
Option 4 1D : 94891121683
Status : Answered
Chosen Option : 2




Q.46 ffafas & & fFe 24 R 2014 & #Ra & Faled AFTE [@FN 6N T § FFATRT T

Ans X 1. AT AT el
v 2 #gA A Ateaa
X % Teres TEaTol
X 4 EregTer 3ureuy

Question ID : 9489115406
Option 11D : 94891121623
Option 21D : 94891121624
Option 31D : 94891121622
Option 4 ID : 94891121621
Status : Answered
Chosen Option : 2
Q.47 fg A B 3R C %% O I e W T ¥ £ACB = 47.5° ¥ 7Y Ira@s AB W T £AOB AT
Ffem)
Ans 1. 950
<2920
<3 930
K 4940
Question ID : 94891113073
Option 11D : 94891152290
Option 2 ID : 94891152292
Option 3 ID : 94891152289
Option 4 ID : 94891152291
Status : Not Answered
Chosen Option : --
Q48 Ffe g o AW fFe & HoaT 10047 o R & % R samn ar?
Ans x * .
1. ETdlE
o
X 2. rEcferar
X 3. orfereareT
V- irroirtll
Question ID : 9489115405
Option 11D : 94891121618
Option 21D : 94891121619
Option 31D : 94891121617
Option 4 1D : 94891121620
Status : Answered

Chosen Option :

1




Q.49 =7 oz R v ¥ od o 9 e E ¥ v mAw ¥ ol ve e ¥ e g & wae
il

Ans X ST

X 2 GEeA
v Regear
X« P

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 9489115994

1 94891123975
194891123973
194891123976
194891123974
. Answered

3

0 o @ e R # e e w1 e BT S o
"V g

<2 HeeIEA et

X 3 TTTRr

K o T oA

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

9489115409
94891121633
94891121634
94891121635
94891121636
Answered

1




! =prars (ecology) eg fFaa TTeT &7
e X1 ared =ifdE (Charles Darwin)
X 2 g A (Eugene Odum)
v s 3aTE gFwd (Ernst Haeckel)
X 4 genfaa® afder (Eugenius Warming)

Question ID : 9489115425
Option 11D : 94891121698
Option 2 1D : 94891121697
Option 31D : 94891121700
Option 41D : 94891121699
Status : Answered
Chosen Option : 1

Q.52 i, S A# ST T # R w1 w6, 12 A 24 fGF & 9@ W ¥l ¥ v @y e
4 F R Rt 3 @ FER

K2 R
v23: fea
X362 R
x5 foa

Question ID : 94891113062
Option 1 ID : 94891152248
Option 2 ID : 94891152247
Option 3 ID : 94891152246
Option 4 ID : 94891152245
Status : Answered
Chosen Option : 2




S S ey I9EOT F F FT F off ST ST B

Ans

X 1. GreAETE (Seismograph)

X 2. 3IE (Barograph)
X 3 greri#AeT (Polarimeter)
v 4 greiEams (Polygraph)

Question ID : 9489115432
Option 11D : 94891121727
Option 21D : 94891121728
Option 31D : 94891121725
Option 41D : 94891121726
Status : Answered
Chosen Option : 3
Q54 et & Treere T IRF FY F AT F7 ww HToT 9w w17 87
Ans : e -
/1. 37¢ TS H U FAT (sending them to a landfill)
X 2. FATAT (burning)
W 3 THIETUT (incineration)
X 4 HATHEA (decomposition)
Question ID : 9489115416
Option 11D : 94891121663
Option 21D : 94891121664
Option 31D : 94891121661
Option 41D : 94891121662
Status : Answered
Chosen Option : 4
Q55 1n a computer, a menu contains a list of:
Ans  of 1. commands
/< 2. reports
/< 3. objects
< 4 data
Question ID : 9489115437
Option 11D : 94891121746
Option 2 ID : 94891121745
Option 31D : 94891121747
Option 4 ID : 94891121748
Status : Answered
Chosen Option : 4




% o7 vataRUT Raw wfaay

FT HATIT ST &

Chosen Option :

Ans
X116 S
X 216 37TET
( 3. 5 FA
[
K47 e
Question ID : 9489115435
Option 11D : 94891121740
Option 2 1D : 94891121737
Option 31D : 94891121738
Option 4 1D : 94891121739
Status : Answered
Chosen Option: 3
Q.57 A & o Aoft F vF 9T goa ¥ R v Rt ¥ 3w 98 Beew @1 3w A, A do A7 g
e (7) & T W 3T T B
EF27, GI34, IL41, KO48, ?
Ans  of 1. MR55
< 2 LT57
< 3 NS51
< 4 PQ53
Question ID : 9489115987
Option 11D : 94891123947
Option 2 ID : 94891123948
Option 3 1D : 94891123946
Option 4 ID : 94891123945
Status : Answered
Chosen Option: 1
.58
%8 12x15, 1521, 21x12 & A.ET. (HCF) 7 A3
Ans « 1.9
<23
X3 27
X1
Question ID : 94891113050
Option 11D : 94891152198
Option 2 ID : 94891152197
Option 3 ID : 94891152200
Option 4 ID : 94891152199
Status : Answered

1




¥ 120 ¥ avw 3R T s B For GEA FAT e §7

as X 1.8, 8
w24 12
X312, 4
<416, 0
Question ID : 94891113052
Option 11D : 94891152208
Option 2 ID : 94891152205
Option 3 ID : 94891152206
Option 4 ID : 94891152207
Status : Answered
Chosen Option : 3
Q.60 7w & grAElE FT 9MEr mrr:.erg%'%, ﬁﬁﬂéﬁmﬁ%ﬂé‘rgﬁmﬁg‘é%r iTe @ T
K e @ gee
X 2 &FeT
X 3 TIr
2
« 4. EE
Question ID : 9489115976
Option 11D : 94891123903
Option 2 ID : 94891123901
Option 3 1D : 94891123904
Option 4 1D : 94891123902
Status : Answered
Chosen Option : 4
Q.61 :
TaeT cass F1 A9 7919 fifaT:
20— [15—-{4—-(8—-6+3)}]
Ans x 1. 5
<286
<38
v 4
Question ID : 94891113045
Option 11D : 94891152180
Option 2 ID : 94891152177
Option 31D : 94891152178
Option 4 ID : 94891152179
Status : Not Answered

Chosen Option :




Q.62 MI, M2, M3, M4 and M35 are five men sitting in a line facing towards the south. L1, L2, L3, L4 and L5 are five women
sitting in a second line, parallel to the first line, facing towards the north.

M2, who is to the immediate left of M4, is opposite L5.
M3 and L2 are diagonally opposite each other.

M35 is opposite L3, who is to the immediate right of L1.
L4, who is to the immediate right of L3, is opposite M4,
L1 is at one end of the line.

Which of the following pair is diagonally opposite each other?

Ans  of 1. Mland L1
<2 M3andLl
<3 MS5andL3
&K 4 MlandL2

Question ID : 9489116003
Option 11D : 94891124012
Option 2 1D : 94891124010
Option 3 1D : 94891124009
Option 4 ID : 94891124011
Status : Answered
Chosen Option : 1

W Fhm wify e F € had §ea 2
Ans o1 ZH T 3RS

A2 aa AR @ 3eaE

v 5 @eEm H#R FES 3TaeA

X4 ATl 3T

Question ID : 9489115439
Option 11D : 94891121754
Option 2 1D : 94891121756
Option 31D : 94891121755
Option 4 ID : 94891121753
Status : Answered
Chosen Option: 3




Q.64 FaaT 2020 9% Srod AFFENT F HFAR, AT (NITI) HRT F 39178 (Vice Chairperson) Fi 22

Ans X 7 ﬁ a é ko)
v 2 TAT FAR
X< 3 3T T
X 4 IFereRT 9ag
Question ID : 9489115431
Option 11D : 94891121723
Option 2 ID : 94891121722
Option 3 1D : 94891121721
Option 4 1D : 94891121724
Status : Answered
Chosen Option : 2
.65 = : :
A6 oftrnfes TEEE 3T ST T TUTTAT W a¥ F & 78 o6
ans of 11784
<2 1764
X3 1734
< 4 1884
Question ID : 9489115410
Option 11D : 94891121639
Option 2 1D : 94891121638
Option 31D : 94891121640
Option 4 1D : 94891121637
Status : Answered
Chosen Option: 1
Q.66 :
HETIT T 1° 7T km = F{ET %I
Ans 1. 231
v 2 111
<3121
< 4 221
Question ID : 9489115423
Option 11D : 94891121689
Option 2 1D : 94891121690
Option 31D : 94891121692
Option 4 1D : 94891121691
Status : Answered
Chosen Option : 2




Q.67 iz fr A Fr 31y Fig 1 AY FH TR TN T TR T6 TE, FHE A H HY, THA T Y F

& T A 3 & A A A W S
X1 5% 20 9§

X2 7 9% 28 99
X320 99, 80 9%

v 410 99, 40 I9

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891113067
94891152267
94891152268
94891152266
94891152265
Answered

4

1 AT wheser re e (galaxy) #T e REar €2
A o1 e (Milky Way)
X 2 grEETEH (Triangulum)
X 3. §I2'F (Bode's)

X 4 TgIHAET (Andromeda)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489115422
94891121685
94891121688
94891121687
94891121686
Answered

1




Q.69

Ans

Read the given statements and decide which of the conclusions given in the options logically follow from the

statements.
Statements:

1. All kitchens are bedrooms.

2. No bedroom is a hall.

# 1. All halls are kitchens,

' 2. Some bedrooms are kitchens.
#< 3. No kitchen is a bedroom.

< 4. Some kitchens are halls.

Question ID : 9489115980
Option 11D : 94891123920
Option 2 1D : 94891123919
Option 31D : 94891123918
Option 4 1D : 94891123917
Status : Answered
Chosen Option: 3
Q.70 37 m x 30 mmmmﬂﬁmaﬁrmmmmgmg S 570 m? =g O B
T Fr =tEE A HifEw
Ans X128 m
V25 m
<310 m
<415 m
Question ID : 94891113064
Option 11D : 94891152256
Option 2 ID : 94891152253
Option 3 1D : 94891152254
Option 4 1D : 94891152255
Status : Answered

Chosen Option :

1




O ST eE & AT A9 AT

(?)—5 X (4+5)
A of 142

X2 24

X3 42

X424

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option

94891113044
94891152173
94891152174
94891152175
94891152176

: Answered
03

Q.72 v Rt ¥ W F7 30T FI0T 30° F g7 60° @ 0T §, FF SH $Ee 6T wiRd AT FTEE

T2y & 30 m @ 1 3T T §1 3W FaweEn F @ fr T A7 e

Ans X1 5vV3m
< 23y3m
V'3 1543 m
X4 43m

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

94891113070
94891152277
94891152279
94891152278
94891152280

Not Attempted and
" Marked For Review

Chosen Option :

Q.73 drar ue gee 20 B # o o gt ¥ far 36 g@ee @ 30 G F o & o Heedr &1 get

fHere gea F frae At § 9% Fom
e X118 Re

X215 fam

539 ﬁf,.r

vie12 RBe

Question ID
Option 1 ID
Option 2 ID

Option 4 ID

194891113061
1 94891152242
1 94891152241
Option 31D :

94891152244

1 94891152243
Status :
Chosen Option :

Answered
4




¥ Fuar F= T T A
FoT:
1.7 B ey £
2. WY FETaT T

v 2 gsfr Prer ey 2

X 4 gl IrEmET Fer g

e X B o Frer derameT T R

X 3. gelr FerarET SeTET F

Q.74 f2w a7 Fuet F7 senna fifav ik Tow fifee & e & Br v et § ¥ 9 ¥ afee =

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115977
94891123908
94891123905
94891123906
94891123907
Answered

3

160342 - 32.124
Ans X 1.128.340
v 2 128218
< 3.128.242
< 4 128.337

O Srafaf@a # A7 F19 $ET (GUFETT F ag 59 3H T%)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891113046
94891152183
94891152182
94891152184
94891152181
Answered

2

ans X116
v 4
<38
X 12

Q.76 22x31x 52 % 7 % W Traw Uws @ ea €, I 50 ¥ framew & afkw 100 ¥ Reew A 2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891113053
94891152212
94891152209
94891152210
94891152211
Answered

1




V7 aa & B 9w # I€ F §EY o6 B9 #AE SEr E

Ans

K 1. 23 FEFY

<222 A
X3 22 3

v 4 22 rgeET

Question ID : 9489115414
Option 11D : 94891121654
Option 2 ID : 94891121655
Option 31D : 94891121653
Option 4 1D : 94891121656
Status : Answered
Chosen Option : 4
Q.78 ve & 9 #r =W seEr-avee At fw F wefig fr o ¥ 37 s w7 uaes SfeT, S F F
odra were (opposite face) 9T FM|
A D A A
B = Cc B E E F
Ans x 1 E
X2D
<3 A
v C
Question ID : 9489116000
Option 11D : 94891124000
Option 2 ID : 94891123998
Option 3 1D : 94891123997
Option 4 1D : 94891123999
Status : Answered
Chosen Option : 4
Q.79 afy v RRrar 39 A # IR qod, U A T 20% 0w AT & Ak 20% #r ge A &, A
IFHT T AT A Fi AT HiET
Ans X 1. 4% wITST
X2 6% gy
V'3 4% gifs
< 4 8% oeT
Question ID : 94891113055
Option 11D : 94891152219
Option 2 1D : 94891152218
Option 3 1D : 94891152220
Option 4 ID : 94891152217
Status : Answered
Chosen Option: 3




Q80 ofy ABCD v = Tge= & 3 ABC v& wwarg farsr &1 101 CDA =1 A 71d Hf3w

Ans J 1.120°
X 2 90
o
<3 60
o
X 4 45
Question ID : 94891113068
Option 11D : 94891152269
Option 2 ID : 94891152271
Option 3 1D : 94891152270
Option 4 1D : 94891152272
Status : Answered
Chosen Option : 2
Q.81 : v 5
SifeTs & frae =ggia AieE g 82
Ans x 1. ?
v20
<32
<4 4
Question ID : 9489115411
Option 11D : 94891121642
Option 2 ID : 94891121643
Option 31D : 94891121644
Option 4 ID : 94891121641
Status : Not Answered
Chosen Option : --
Q.82 Fpr e FE ¥ oA FA W 5% 1 gE A §I Bl 3w W 10% F AT urs e F R st
7ed, B0 750 ¥ e wfoee siftes g anfge?
" <116 s %
19
<2 14 0 %
19
15
V315 "0
19
5
K4 15—0%
19
Question ID : 94891113060
Option 11D : 94891152238
Option 2 ID : 94891152237
Option 3 ID : 94891152240
Option 4 1D : 94891152239
Status : Answered
Chosen Option : 4




% Arwraire e #, a6 F TF TIE AT B
A 1 FEefiem (worksheets)

X2 a8 FFH (word books)

X 3 BT (photos)

X 4 =MERA (charts)

Question ID : 9489115438
Option 11D : 94891121749
Option 2 ID : 94891121751
Option 31D : 94891121752
Option 4 1D : 94891121750
Status : Answered
Chosen Option : 1

Ans ) 29

Question ID : 94891113048
Option 11D : 94891152189
Option 2 ID : 94891152191
Option 31D : 94891152192
Option 4 1D : 94891152190
Status : Answered
Chosen Option: 1

Q85 33 2r Mol & AT F AT A P, TAF TF TS F ATBA F IS 10 4 T
Ans X 1.1: 4

X28:13
r g1 ER
vi1:8

Question ID : 94891113065
Option 11D : 94891152258
Option 2 ID : 94891152260
Option 3 1D : 94891152257
Option 4 1D : 94891152259
Status : Answered
Chosen Option : 3




Q.86 Tr=fafem 7% 7 a5t % SR Foar A 3R B arr Fr 7 Rhr & S &1 7% F sy W R*w v

99T T Feal &

2000 2001 2002 2003 2004 2005 2006

o a9 & F9e A 3R B gF & 7 BeRr  ew sgEes wm e

Ans X 1. 2005

< 2. 2003

< 3 2002

v 4 2006
Question ID : 9489115989
Option 11D : 94891123955
Option 2 ID : 94891123954
Option 31D : 94891123953
Option 4 1D : 94891123956

Status : Answered
Chosen Option : 4
Q.87 T ey od F gEe ¥ 7.30 7 §1 ARy 9T A gr forefiEe R & #w 5Pa s g ar 15
e w1g fRee @t 98 few fam @ 3 SR e
s of 1 ofees

X 2 3’

< 3 giuT-are=rH

< 4 gfauT
Question ID : 9489115990
Option 11D : 94891123957
Option 2 ID : 94891123960
Option 3 1D : 94891123959
Option 4 ID : 94891123958

Status : Answered

Chosen Option :

1




Q.88 fr=fafm o ¢ % Regy ava # a9 § g R @ & wiovd Fawr & i 3 o o

F IR T eafaf@ET wee & 301 &

10%

5%

B Marketing
B Copyright
HGlass

u Melting

B Melding

= Packaging

ARETET (Marketing), #19T=e (Copyright), &= (Glass), frgerl (Melting), R8T (Molding), 3T

(Packaging)

afy st v BfFaw A & e BET & AfsT aa & w5 & 128,400 @Y w4 950 8, aF 9%

FENEE G & w9 & haeT @ w T 87

Ans X1.323,100

v 2 321,300
X 3.320,130
/< 4 320,310
Question ID : 9489115991
Option 11D : 94891123962
Option 2 ID : 94891123961
Option 31D : 94891123963
Option 4 ID : 94891123964
Status : Answered
Chosen Option : 2
Q.89 & = s # wE 3T 3 AE R 7T woF # 5w &
g faemfimt A, B, C, D, E 3R F & ffees glremsif & emor o o & € & o F & 3fosawm 3%
e Ul 717 o C F HwAR 3F wea [T, a7 E & w¥Fan 3% 9d vl 79 F o #fiean s
e T dF B & 3% 7gAaA 9
T afenat F seEle Fea-Tew 3% ua U D & A ¥ 34U 3w uva v, afF ¥ Beeaw
et 9 A & B & 379w 3% 97 vl C & A § 3¥9% % wrea Ful E 3k F & Reeas
giereaedt o
o C & ggar T 9o e, O A T == Fie ar 91?
Ans 1. gt
X 2 gF
v o g
X 4 wger
Question ID : 9489115992
Option 1 ID : 94891123967
Option 2 ID : 94891123965
Option 3 ID : 94891123966
Option 4 ID : 94891123968
Status : Answered
Chosen Option: 3




Q.90 FAR F v A F I FEE T g F AT P §1 5 I g, SHET WG, FEST [ Hr 4G F
a7 ofn T e g A S

Ans

v 115 ¥
<216 a§
K312 a9
<420 T¥

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

9489115986
94891123943
94891123941
94891123942
94891123944
Answered

1

¥ SrafafRa Teamnt 3 3RS 1 & cuattyg ATl

(1) -0.96
(2) 0.83
(3) 0.24
(4) -0.64
(5) 0.58
Ans 1.3 5 & F A
X225 3 4 1
<3413 52
v4+1,4.3 5§ 2
Question ID :
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

9489115985

194891123938
194891123940
194891123939
194891123937
. Answered

4




Q.92 3w ez Tow BT v §, SFF F 99 B R W T A §, TAR TF 3 ¥ HES ag I9H

Ans

F TS Tl
5H . TG
g =
T :

#Hrar @ @

W 1 A

. dlaen
5

X 2 FH  TET

X3 g &=

X 4 FST : EET

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status :
Chosen Option :

9489115978

94891123911
94891123912
94891123910

1 94891123909

Answered
1

Q.93 te =T gz s F LAUGHTER' @ ‘MBVHIUFS' foram siram &1 3% e s # 'DEPRESSION'

Ans

Fr w g @ Fmee?

v 1. EFQSFTTJPO
X 2 EFQSJPOFTT
X 3. EFSFTQTJPO
# 4 EFQSFTJPTO

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489115975
94891123898
94891123897
94891123899
94891123900
Answered

1




Q.94 fw 7w e F1 AmEE FemTa Fiw 6 R av Seedt § 3@ dem a1 e B, S s ge

g (?) & T 9T 3T TR A

N2
VY
Ans o 17
X2 20
<36
X414

Question ID :
Option 11D :
Option 21D :

Option 31D :
Option 41D :
Status :

Chosen Option :

9489116001
94891124002
94891124001
94891124004
94891124003
Answered

1

Q.95 =t v Fuw 3R IF A o 7% Ry v E| 7AW e F HT G T, Faa F wmw & T d

Ee
TemETEs T & FEka AOERET w FEEia R e e
T

1.8, ¥ | F Ay Feag 7 9y § i 3= vanfae e S mear 1

2. 78, IR IR TUEENT S T afeREt @ swe JE e E

M Feer a& 1 T R
X2 &% 1 3T 2 3= & T &
Keagaras 13T & aF 2 T< g
X+ T TF 2 TT g

Question ID
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status :

Chosen Option :

1 9489115981

94891123921

1 94891123924
1 94891123923
1 94891123922

Answered
1




Ans

F g, o At =few & w=or § fw Frer & s=or & B

(1.@;“-

< 2 AT

A5 AT
X 4 drar

Q.96 fFer 3t Fre RoEr At fer & s 1 O it O g el Fer & =2 §) e e
far gy 3t aEte & =y ¥ e 3k fer R et dsfem & = ¥ e Al ot aelw
3k e & 3= &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115997
94891123985
94891123987
94891123988
94891123986
Answered

1

Q97 oA F U HEET A, B, C, D AT E &1 D, B & Rar &, 3 A &1 9= §1 C, D & W@ &,
AT E DHF I § E FA Y FIT TIT 7

Ans X %
LA
' 2 J"
X 3. g
K4 T
Question ID : 9489115998
Option 11D : 94891123991
Option 2 ID : 94891123992
Option 3 1D : 94891123990
Option 4 ID : 94891123989
Status : Answered
Chosen Option : 2
Q.98 f2v =1v fawedt & W 38 @G H TIA Hiew, S Grafatig vt # v REa (7) & we 9T AT
T B
5, 18, 39, 68, 105, ?
ans X1.118
< 2140
'3 150
< 4 138
Question ID : 9489115988
Option 11D : 94891123949
Option 2 ID : 94891123952
Option 3 1D : 94891123951
Option 4 1D : 94891123950
Status : Answered
Chosen Option : 3




Q99 RrarFm R AR AT IR BT ST F & oot F ¥ BT ST Fw F R

HU
T A" & wa € W # e & e XYZ 9T # seaAe B s =
IOTT

1. 90T 39e T @ @ " f

2. %79 XYZ 9T & i F I==d 7 T

X1 ar gror 1 3T T & gror 2 [T
X 2 Faer aror 2 fAfga 2

v 3 raer arrom 1 &fga &

X 4 gr & groT 1 71 grer 2 =T #

Ans

Question ID : 9489115982
Option 1 ID : 94891123928
Option 2 ID : 94891123926
Option 3 ID : 94891123925
Option 4 ID : 94891123927
Status : Answered
Chosen Option : 1

Q100 =7 famew w1 =awm Hfow, Soe day 72 F Ty = 79U §, S @ T F B T F B

FT (Law) : 318er (Order) @ 379X (Crime) : ?
Ans XK1 3rarefr (Criminal)

« 2 FST (Punishment)

X 3 ey (Peace)

X 4 & (War)

Question ID : 9489115974
Option 11D : 94891123896
Option 2 ID : 94891123895
Option 3 1D : 94891123893
Option 4 ID : 94891123894
Status : Answered
Chosen Option : 1
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